CRMETEBHEEIES 21 RICEI S REOBERRICE T I HFROARK)

BAE O LEEIS
SHSEE SHAEE SHSEE SH6EE SHTEE
575 BRABEHRN) | =t [FRAZEHRN) | =« | HFAFHRN) | =« [FRAZBHN) | = | FAFHAN) | =z
Sttt BlEC) St BlEC) St BlEC) St BlEC) Sticig| BlEG)
X AGT) 14 1 741 12 5| 41.7 17 9| 52.9 16 7| 438 12 7| 583
+ R fiEsg 1 o[ 00 5 ol 00 2 1| 50.0 2 0 00 1 0 00
BT 2 0] 00 1 o] 00
#REL 15 15[ 100.0 13 13[100.0 10 10[ 100.0 12 11] 917 6 6/ 100.0
HRe S 1 o[ 00 1 0 00 2 0 00 2 0 00
jEied:l 1 1] 100.0 2 2| 100.0 4 4| 100.0 2 2| 100.0 2 2| 100.0
FEEEL 1 1[100.0 1 1] 100.0
X AL B4 A ER 1 0] 00 1 1] 100.0
&5t 34 17[ 50.0 33 20| 60.6 36 26| 72.2 34 20[ 588 25 16| 64.0
BB B O EFIA
SHSEE SHAEE SHSEE SH6EE SHTEE
575 ZEREBN) | =t | REREHOA) | =it | ZEREFRN) [ =t | REREHON) | =i | ZEREHRN) [ =t
St BlEC) St BlEC) Sttt BlEC) Sticg| BlEC) Sticg| BlEG)
ESR s | 347 [ 141 406 299 | 132 | 441 | 392 | 184 | 469 | 332 | 143 | 431 | 233| 109 [ 46.8
+ R fiEsg 10 o[ 00 12 2| 167 6 1] 167 10 1| 100 4 o] 00
SRR 7 1] 143 6 1] 167
#REL 83 75| 904 87 84| 966 | 106 94 | 887 85 80 [ 94.1 77 73| 948
HRe S 17 o[ 00 17 o[ 00 13 o[ 00 12 0| 00 17 o] 00
jEied:l 7 71100.0 15 14| 933 23 23| 100.0 16 16 [ 100.0 13 13 [100.0
FEEEL 49 47| 959 27 27 [100.0
X AL BA A ER 32 14| 438 32 14| 438
&5t 503 | 238 | 473 | 430 | 232| 540 621 | 363 | 585 | 455[ 240 527 | 377 | 223 [ 59.2
B K O RBRSZ BR B 12 5 oD B e DEIE (FHRL)
T2 | FRL30F B | PRSI | SHI2EE | SHI3EE | SHAFEE | SHEE | SH6EE | SfTEE
RAE 30.0% 27.3% 25.0% 41.7% 6.7% 41.7% 52.9% 43.8% 58.3%
SERE 32.4% 37.2% 37.8% 35.4% 40.6% 44.1% 46.9% 43.1% 46.8%

R GREMIL L) 1259 2 KA OFIE K OT OO & B RRERSIC

1}
b HHEENT D D MR B OFIE M ONE DT
SINEE | SH3EE | SF4EE | STSEE | SH6EE g;l_}é

IR
SRR LLE 19.0 % 15.9 % 17.6 % 19.4 % 18.9 %| —0.1 %k '{Ub
BB R AR 0.0 % 0.0 % 0.0 % 0.0 % 0.0 % 0.0 %k4uk
RER 0.0 % 11.1 % 9.1 % 8.3 % 10.0 %| 10.0 %ik'{Ub
SRR 25.0 % 19.1 % 22.9 % 26.1% 23.6 %| —1.4 %ik{Ub
REMELR 31.0 % 31.0 % 273 % 279 % 225 % -8.5 %k 4k
FRELR 25.0 % 24.0 % 24.7 % 23.8% 37.8 % 12.8 %ik'{Uk
%RE 53.5 % 52.7 % 54.4 % 575 % 602 % 6.7 %4k
2K 42.9 % 42.4 % 43.4 % 45.7 % 456 % 2.7 %k AUk

B O A o s E g R E, B E B RS 1 ICoE 4 5 Z#E X
TeHREE L N1 AREIZD & 3 6 O RFM A8 2 7o ik Bk

SI5EE
4R | SA | 6A | 7A | 8A | 9A [10A |11A|12A| 1A | 28 | 3A |*M&H| gay| st A | ssesmmn 5 [ssomsmin =
24.3 w5R [ 8.3 RS 9.3 MERN| 8.0 RS | 10.2 e5ma| 6.7 BERN| 9.9 BERS [ 9.0 BERS| 7.2 BERN| 6.5 RS 9.0 BERS| 10.0 msha| nosmsm|o.0 BERA| 451 A| 106 A 29 A




FERA BRI OIS B DRI
ASFOECSF6ELH 1 H ~Sf64E12H31H)

NE&

PHERAG H K

NENEE SR

B

627N\ 12.16 H

19.63 H

61.9%

e (B o0 55 20 5 K OV A O AR 55 2Bl &)

AR
R BEOERRIES (%)
(A)) 193 LA | 20~245% | 25~297% [ 30~347% [ 35~397% | 40~447% | 45~497% | 50~547% | 55~595% | 607K LA £
B E 1.7 0.0 0.0 4.0 8.0 0.0 0.0 0.0 8.0 4.0 76.0
ﬁ‘l‘étﬂ%%% 6.2 0.0 23.5 5.9 5.9 0.0 5.9 5.9 0.0 5.9 47.1
BEBN O F VRARZERG R [ O BuAS- 8
SHSEERICHFHT-IZE ——
BiE A [RUEATSTRES | mea| mes |
tiot-BEE % R
\ 2] 9A 8 A 88.9% 38
SHH Z 2N 2N 100.0% 146 A
o 3] 3A 2N 66.7% 6B
RETL 5 (1PN oA — —
ShHE E 2 Ga = 7A 7A|  100.0% 246 A
L, 232, 2 3 % 2)\ OA - -
b 34
FRE T 58 = Ox OX — —
5B oA oA — —
5
Freze = 2N 2| 100.0% 14£10H

FVER B OBURE HEIRIR K OF RSO 72 8 ORISR, S HUE H

FREELEARR | BRSMIKR
SRS EEDITHT=IC
IERgEL - B 14N 14 A
B S #
RISEH 12N 13N
BRIGE 85.7% 92.9%
iV EEI= kS
XIEEDH DT 1928 4348
E{FrIEE A 2008 5.00H




